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3 10 e i M O o | o - = o Do

el g ?

(1) & Saw ® s e a1
Haiit® qew@qel & 7

(2) M9 YA S Hr fFH gBR Gfeq
Y b & 7

(3) MY o8 I U HH WU T E
Hhd & 7

(4) 979 fhH WX o SICTHICTE Tl
ST Tl © 7

3. RFH & oER, ofeqd TAW #
FhRIR-fheniRar ffoiea & & -
TR HI HIII A & & ?

(1) R (989H) H%e

(2) &AM Sqafsy

(3) WEdM fawra

(4) YEar Aee-FRY (R
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2. Which of the following g '
likely to get students to raﬂe@@n
purpose ?

(1) What is most important ta you ﬁ' L

your life ? 5t '

(2) How can you organise your life ?
e
(3) What can you do to get good

grades ?

MHOW can you set better short term ! _I
goal ?

3. According to Erikson, in complex

societies teenagers experience which Gf~h
the following state ? _ g

(1) Identity crisis
\(Kldentity achievement
(3) Identity moratorium

(4) Identity foreclosure



7.

Learning situation in which multiple
partners stimulate and encourage onc
another is called :

(1) Team teaching

(2) Programmed instruction

43) Cooperative learning

(4) Discovery learning

Leamner centered instructional strategy
in which students are encouraged to
construct their understanding with the

« assistance of teacher through questions

and directions is :

(1) Discovery leaming

(2) Guided discovery leaming
,,(43 Problem based leaming

(4) Project based learning

Which of the following statement is
incorrect about the principles of child
development ?
(1) Development follows a definite and
predictable pattern.
2) All individuals are similar in their
development.
(3) Development is product of
hereditary and environment.
(4) Development works on the
principle of integration.

(3) wrs oiY A B SgeEt &
(4) wewen (P &

. weaat & e 7 e w9 Ao

Py A wEl O SnEiRa T BT
AR 97 S B 8 7

(1) -y W]

(2) mEEH W

(3) Ugg HE Wl

(4) ST SArataE Tl

frefefag A A g SR A
e @ qwia  Ren R
‘fygaen av & (o) ¥ P
amrs i arife Wy { e A
e # st ww@ B 7

(1) te do TS

2y #o dlo BENE

(3) ando o 2MH

(4) THo HTTHT
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@) quy-lum‘l‘r
(4) Continuity

(3) Postcony
(4) Mutual




?f 676 wmonm‘rh corrective lenses
(4) 20/10 1o 20/30

14. Child's symptoms when, he/she can not
stay focused on a task, act impulsively,
ignoring social rules and lashing out
with hostility when frustrated, is

ication of :
1) Attention — deficit hyperactivity
disorder
(2) Slow learner
(3) Mentally retardation
(4) Amnesia
15. Which of the following type of learning
style is used when students approach
the leamning material in a way that helps
them understand the meaning of the
materials ?
(1) Practical style (2) Ampulsive style
(3) Surfacestyle (4) Deep style

is to social cognitive theory as
Vygotsky is to social constructivist

H{Slanncr (2) Seigler
(3) Piaget (4) Bandura

. Fiefe ¥ § B w AR S A
A IvgE 0§ SRE T & 7
(1) REy  omEsgET AW awE @
fafere feeEr % R &
(2) fasm  ofgvaEET A e @
ferenerat & fofare e # fmEm e
(3) Iy TERTE 9% A F A
T i wHY T A
(4) o9y SEFET 99 SR F
a1 e R B s R s

B e o s R 5
A ofte ghs @ i ¥ R o
UeH, doHl, dEfeE R &7 BEE &
Io oles 47 (F9) 81 9% T &
IT F I SIX e BN bW 8
e T i e
(1) Rumegem (2) wmiym
() RafEmE (@) Ranim
. Higphe @Ee (TOE) @ 99 &
ﬁﬂ%ﬁaﬁﬁ%ﬁm%aﬁﬁw
ST & 7
(1) fafm RftEr & swmr faefEr &
T % [T HE

(2) T o= WG GUET & SYEn
AT

(3) AFESTAE fafe i ST
% FHROT JAA

(4) T F S F U GenikE &
SO ¥ FE
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4) Educating ¢
) Bducaing

classoom




to  Bronfenbrenner's
Theory, students family,
peers and school etc. influence his/her
development and they belong to the :
(1) Chrono system
(2) Micro system
(3) Macro system
) Exo system

23. Fositjv.e facilitation of present learning
through past learning, for example
addition helps multiplication. This type
of transfer of learning is called :

(1), Vertical
2) Sequential
(3) Lateral
(4) Bilateral

Which of the following programme is

not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(

‘{{}‘ Enrichment in regular classroom
sefting

3), Acceleration

(3) S I AR 2 S SRR

(@) 7 & SR AR T & T AR &

. B nER B AR A i § #

- T G P

(1) @ oG e aw
uRafia & il &1

(2) H9 Sha F @ sEEn

(3)_§&ﬂmﬁqs'a€tﬁmmaé%
|

(4) g #  FiEEm e
f-fore ord form 2kl 21

. Trfelfes & & - A fEEE §

G0 e 15 1 ) O s o G
g 1w ST § OfE A g

(1) T SgaEeen (agiad) T &
(2) R & weegel et Rk
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(1) Emotional
modified by learni; _
(2) Emotions are permanent
the organism. <1
\[/3_{ Emotions are aroused by |
stimuli.
(4) Certain facial
emotions have differen

Which teaching strategy is

to foster the development o

thinking skill of students 7 _

(1) Giving a multiple choice test

(2) Assignment for students to
timelines. of important
dates
Giving worksheets 1
require them' to recall th
presented in their tex]
Presenting students wit




velopmental Disorder

:‘.u il l-:'-ﬁj'l U
(&) BulimiaNervosa
29, Most suitable strategy for a teacher,
when he/she is working with adolescent
Studmls isto:
(1) Ask students to make comparisons
W) Propose a problem and invite
students to form hypothesis
(3) Give children experience  in
ordering operations
(4) Construct an inelined plane or a hill

30. Which of the following is nmot an
appropriate  strategy for improving

\?\den{s problem solying 7

1) Functional fixedness of students

(2) Give extensive opportunities 1o
solve real-world problems

(3) Involve parents in children's
problem solving

(4) Monitor students effective and
ineffective  problem solying
Strategies

o (R daah)meGUAGES(HINBl
' [R=1/ HINDI ]

31. Rivfax # e ¥ oF@ BN
gifa :
(1) P, e, R S w1
@) ‘i R ol B A0 § e
Bl
(@) g, T @ e
=1 # fm A afte & Rew 8 B
(4) FEw, ¥, G o = e
ST = F aeE W e

32, Ty o W ‘o’ SUET & S g R ?
(1) SHarA
(2) s
(3) ST
(4) ST
33. ®R-fdT @ w=fw @ e §
T g g
(1) R + w = faga
2y FUH + FT = A
@) W + Fa = IR
() TR + AL = Sl
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34.

35,

36. frg fwed § @ STt & A Fla? < ;
®? i
(1) AR (@) -asnﬁ‘r. ;
(3) @A (4) oI |
37. g fowey # ‘s gY A W

A 76 gen & 7

Ly g ) fBEa
(3) yBdmEr (4) TETEEE
38, ‘O ST A ﬁtﬁﬂ

e w7 - T A A g R
F 97 fiE Hw L
() sifier dos R
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Direction : Answer the fol

46. Choose the correct option to fill in the
blank space in the s
‘expresses the correct notion hinted in
the bracket against the blank space :

(command) apologise or

face the consequences.”
(5 must
() shall
(3) may

(4) could 3 ;
the options give vl
47. Which one of the following words usc of Intransitive verb
underlined in the sentences given as ‘(’6 Fire burns.
options has been used as a verb ? (2) The principal hoisted
(1) The stage performances are called Independence Day.
Raas Leela. (3) She isreading the n
(2) The performers enacted Raas Leela
ohtho e . Choose the correct verl

V{SA) Each actor performed in a circular following sentence again

space on the stage in Raas Leela.

(4) The performing artist moved in a "My father
circular space on the stage in Raas yesterday.

Leela. (1) leave

left
48. Identify the compound word from the @{ '
options given below :

(1) Development e
\{ e
\,—(f) Newspaper sentence |
"A Cool breeze bl
(3) Powerful

(1) hreeze
(4) Childhood A3) cool
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3) Thu Bhagyad Gita has presented a

balanced philosophy of life.
{4) A balanced philosophy of life was
presented by the Bhagvad Gita.
58. Choose the word which is spelt
correctly :
(1) Beegning
(2) Biginning
(3) Beginning
\14.) Begining
59. Which one of the following words is
#of a noun ?
(1) advice (@) rice
(3) device v@ nice

60. "Reading improves your knowledge."
Identify the gerund in the above

sentence from the options given below :
(1) knowledge

(2) improves
V() reading

(4) your

[ S A, ﬂlﬁ% ik

TR qar 9 ﬁﬁ @‘ -
APTITUDE, HEAsomue ABILITY AND G.K. & AWA REN

R - Freafif 75 & 397 47  fig gee o A gl

Direction : Answer the following questions by selecting the most appropriate op :

61. = 'PROPERTY' ¥ ¥l & ¥ R
Eﬂ.%,ﬁﬂ%mﬁaﬁaﬁ%ﬂm%
e fr o @ oieh T §
-m%mﬁé’iﬁ%?

(1) 0 2) 1
@) 4 JAT 3
62. 3 FM A @ B ANEHN I @

AFR-gEY @2 A1 A A @ UEE A
# i AT 9 W § @ ¢ B @

e fe R § 8 7
Y e @)
(3) v (4) fE=m

63. TH U ST G & Sifd 59 UT
15% & oger & &, 98 0 qG T
A aE A R o g Sl
% 39 19% T 8 ?

(1) 34% Y2) 40%
(3) 25% (4) 30%

64. U o qeEr, fET A oY I G A
amg @ R 2nlty e o o, f
3y 3B o B g H 7 TR A R
) T g #
) 40 7d
(3) 50 @4

2) 30 7
(4) 45 &

Level-3/4301

61.

62.

63.

64.

In the word PROF
such pairs of Ietter
same number of letters
here as what they have betw
their order in English Alphabet 2
(1) 0 @ 1
(3) 4 @ 3

Two persons A and B stand in front of

each other in morning. If A's shadow
lies in the left side of 'A', then in Wi
dircetion B's facing ? .
(1) South (2) North
(3) East (4) West

A budinessman gives 15% dis
the list price of his items, Ho
price he should mark on his items |

cost price fo get 19% profit?
(1) 34% (2) 40%
(3) 25% (4) 30%

After S years; father's ngew{ﬂ}‘ﬁﬁ
limcs of his son's gsé‘ 5‘.-

The p_rescnt age of th:
(1) 40 years ;
(3) SOyears  (4) 48



H"'”"@n"

- e7.

(53 2 ) -2

The curved surface area of a cylinder is

264 m’ and its volume is 924 m?, then
what 15 the ratio between its diameter
and height 7

) 7:6 ) 6:7

(3) 3:7 ) 7:3

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520 (2) Rs.572
(3) Rs. 600 (4) Rs.625

. A principal lends on simple interest for

two years. If rate of interest more than
1% the simple interést increased by
Rs. 240, Find out the principal :

(1) Rs. 5,000 (2) Rs, 6,000
(3) Rs. 8,000 (4) Rs. 12,000

. At the speed of 60 km per hour, 125

meter long train crosses a bridge in 30
seconds. What is the length of bridge ?
(1) 375 meter (2) 225 meter

(3) 125 meter  (4) 250 meter

; Mqﬂwﬁﬁﬂ%ﬁ'ﬂlﬂ@ﬁﬂﬁm

70% T ¥ St gy, af 200 R

3 R F et © & @ 2500
fordt 2 fadlt & ool @ & @ &
qlEnfaat #t der R o2

(1) 3000 (2) 3500
(3) 4000 ¥45 5000

. A, B3 7 & & C ok D, EFda

ZIE Aaﬁﬁ-fc%wii%aﬂtc B
CEI M A B T e
HAHE &1 H FFE ?

() A,CETTEIQC,D & 51 &
3) D.Cﬂﬂ:ﬂ%ltﬁ.laéasr%l

. U 59 9 o6 908 @6t 21 A 8K B

AT A X o &I A DAl AR Y
¥17 Z o P v Wi ® ?

(1) & 9 ) s
(3) "EA (4) 9B

.BARCHIL ABICHADE

A% E Bl & Pl & F
PTG FET B ¢

(H EF B EI
(2) B @ fer E ®1
(3) D % §fY E &1
4) D % g A B
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out total nmnbcr of smthta -
(1) 3000 (2) 3500
(3) 4000 t4)5000'

stalemenls 15 nccessanly true?
(1) Aiselderto C (2) Cis elt!urinﬂh

marked between A and B. Y

the left of A. Then Z marked o
surface of cube ?

(1) bottomside (2) upsnie

(3) infrontside (4) in back side

. Ais the brother of B and C, D

mother of C. E is the father of A, Then
which statement is false ?

(1) BissonofE,

(2) E is father of B.
(3) Eishusband of D,
(4) AissonofD.




/, SFU. 91T, 15LS, 170R

- (l) SFU (2) 9T

3) 15L8 (4) 170R

78. Find the Odd one out from given
options :
@) 17 @) 131
@) 161 (4) 181
Write the following words in the order
given in the dictionary :
i. Cntical ii. Criterion
ii. Crisis iv. Crisp

B1.

82.

(2) 3,1, dv, i

(4) v, 1ii, 1, 11

(1) i1, iv, 13, 1
(3) 1,1y, i, i
If English alphabets are written n

opposite order, then which is the 8th
letter of the 19th letter from left side ?

() T @ P
(3) Q 4 R

Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa
(3) Jhajjar (4) Mewat
The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

"II:'I - :".I:" -_'

TN _
(1) oo (:(m
(3) = (4) s

84, ‘T R FAE-H 3 €D A A 2
WY g @) g w
(3) B ™ (4) ™ T

85. & W wew I % ax ¥
FHeliciEs FaRt 77 R Fif
(2) 46 FHEe-EEE-TedT TEE d

f FEam 21
'@)gﬂﬂ@ﬁﬁﬂfﬁzooﬁ?ﬁo@rm
|

SYUE A A BN-A F g B

(1) %9 (a) H &

(2) %A (b) T &

(3) AT () AT & (b) TH 2

¥ (2) o (b) 3 E E

86. o, P ol wew oafaq ®
(1) & vt
(3) =g (4) Sfarn
87. YOl % Y A AW F HOX W

g & Fefifan  gemtd @
sain (waifes safy wdwaw) wH &
gt i

(i) WO W

(1) =4 T

(iii) it e gg=

(iv) Zdt T

72 e g -

(1) (1). (). (iii). (iv)

(2) (i), (1), (i), (v)
7 @), i), (i), i)

() (i), (iv), i), ()
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86.

85. Consider the follos

Ghamabad«?alwﬂ i
(b) The total length of thi:
is more than 200 K.M. B
Which of the above statement is/are
true ?
(1) only (a) is true

(2) only (b)is true r i
(3) neither (a) nor (b) is true - -
(4) both () and (b) are true =

The district, in which Gujari Mahal is
situated :
(1) Hansi (2) Hisar
(3) Panchkula  (4) Ambala :
. On thcbasmofextenlof!hepmodm
Chief Minister, arrange the following i
Chief Ministers  of Hazyma ih ::ﬂ'
8
]

descending order (longest serving first) :

(i) Bhajan Lal =
(if) Bansi Lal h
(ii1) Bhupinder Singh Hooda. Ve ”
(iv) Devi Lal e -

Choose the correct code :

(1) . G, (i, ()
(@) (). ), G v
(3) (). (i) (iv), (i)
() G, (i), G )




E'“ @smsadét the followmg statements about

‘._(a.) wShmmo Devi was the Deputy
Speaker of Punjab Legislative
Assembly.

/(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the above statement/
statements is/are true ?

(1) Only(a)is true

(2) Only (b)is true

(3) Neither (a) nor (b) is true
(4) Both (a) and (b) are true

. Which of the following was the partner

nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt
(2) France
(3) Kazakhstan
(4) Kyrgyzstan

of. S ST A & A Wy 7 o
e, 61 AN ST A S ?

(1) ferrEmre
@) &
(4) faweEn

. o g ) T e -

(1) 7t @y & fif ey T
- Fei | — s

(@ R T A A AR AN
A

(3) 999 # 9 " wa o 0| F
FE G AL — AEH

4) HI-gL 9 UF a6, A o e e
=73
B e = e - e
fififr et & 7
(1) STEfEEE
(2) ST
(3) @

R
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(2) 9 @ TEHT
(3) T - g

sy ST e B, Al T O }

iR s 3 o7 e g
(y fergrdem

(2) feigmfor

(3) R

(4) @l

‘anfead méﬁmﬂm
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(1) S
@ T T
(@) Hw g
&) T TS




v 3 g o e
(1) EEE

(2) SIE b

(4) AT FAH

102. =H &S 3 @ A 9 qelegey 398

™

i amEy R g @& S
22

@) Pl

@) ST

(3) FHTHATED

(4) AT

@) TR R
(4) TEREw T

. T 7 R R -

(1) er=r
(2) SEH
@) &=
4) =7

- A & R o a e
% e § g ¥ 7

(1) 39
(2) IA%
(3) Eme
) st

- B A § o o= 9 e -

(1) T
(2) 4=

(3) HgaTn

B wEd
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(1) (i)
A2) (iv)
(3) ()
) (iv)

()
(i (i)
(i) (i)

@) @)




14, = ¥ 398 9= ' 3 fu 5w
7T AW g7

(1) A
(3) Feemm
(4) TS
115. ‘ATl Sl ORT A g 9 -
(1) 1896 3o
(2) 1897 g0

(3) 1898 %o

(4) 1899 Zo

o7

3) Rem
*) ==

. T o= ¥ wEE R

(1) T
() =i
@) &g

(4) T

N e e e B i

(1) o F=
(2) e ftE
(3) T TN
(4), T T

. o=t A @ gE 9= o9 die

;t_.'\l:

,U_) T PR
@) FEEE
(3) 9FEd

(4) wo=i
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128. TR 8 W@, W wE oA
S B 4 W, AR e )

Wﬁmﬁwmaﬁiﬁmﬁw%ﬂﬁaﬁ
fomar T B 7

(1), Fifeiean

(2) 3w famm
() T TE T @
(4) 9 T

(3) T, 7 &
(4) rea
130. “S-SiEd % EOEAew SW @R

T HaeT d FHE B AE
e afte & & e gy B 1

ST T R T a7
(1) S FEgER aea
(2) T e g
(3) =i gEE s
(4) Fenfam e
131. AT IRET F Feaa ‘FEaa F
f5e F1eA-5E # Heied & 7
(1) =hede
(2) 9fEs ; 3/
(3) TSl

W/'E R
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134, ‘TR, ' G & W TS B —

(1) #FE

183, oy P P AT ET o
(1) Fed |
(2) A=
(3) TETCTE (@

(4) STIE 9 =

o % -
(1) e=Th W fEas - JI -.
(R TEIRT TS }

(3) e

(4) SHTESTER AT

135. AT A GERT & ofmE § -
W) ™ aeE T
() s T T=
(3) ¥@ aE
(4) TR T
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141.

"SR SAE % srgew o ) g 5P
S T @ A Y, B g @)
SRR T w9
et Femr ofw 17

B F [N R, Fweme qu
Fafter @ % ?

(1), Fefedt e

(2) Efo HiE aTasaHt

(3) Ho SIS 6E

(4) =T B

AT & Y R B e @&
areifes’ eT T @ 7

(1) e

(2) TR

(3) smrTw

(4) FfATERTH

N
142,

143.

144,

e A E 7

(1) seRar
(3) St

(4) T&

ST TR = iy :

(1) 957 9T 9 - FHIA

@) o oD RE W - wd
(3) SR ST fEr - T A

@) S g W - e e

e el w@ o e 3
A B Rt T -

T TR
(i) g )
(i) iy & 9
(iii) Rt S/

(a) F91qTeT

(b) ST

(c) &0 g
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